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Zs = ZzTs + ZyYs
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Zy = COS T COSY, 2y = —sIinxcosy
Ty = 28, Ys = 2t
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Zs = 258C0osT cosy — 2tsinx siny

e 2., 00000

2ss = (25), = (2scoszcosy — 2tsinzsiny),
= (2scoszcosy), — (2tsinzsiny),

= (2s),cosxcosy + 2s (cosz cosy), — 2t (sinzsiny),



oo

(coszcosy), = (coswcosy), x5 + (cosx cosy), ys
= —2ssinxcosy — 2t cos r siny
(sinzsiny), = (sinasiny), v + (sinzsiny), ys

= 2scosxsiny + 2t sinx cosy

HEN

Zgs = 2cosx cosy — 4s*sinx cosy — 4st cos x siny — 4st cos siny — 4t? sinx cosy

= 2cosxcosy — 4(s® + t*) sinx cos y — 8st cos xsin y



